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10.3 Using Chords

Bellwork:
Find the value of x given that C is the center of the circle

and that the circle has a diameter of 12.
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9 +xt=3%0 = x
xz =29
Ik
=35\
Write a proof. E D
1. Given: B is the midpoint of EC and DA.
Prove: AAEB = ADCB X
S g
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2. Given: .BDE = .BED, /A= .C A

Prove: AAED = ACDE
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In the same circle, or in congruent circles, two
minor arcs are congruent if and only if their
corresponding chords are congruent.

Proof Ex. 19, p. 550

December 20, 2018

Theorem 10.6 Congruent Corresponding Chords Theorem
B C

D

A8 = D if and only if AB = CD.

If a diameler of a circle is perpendicular
to a chord, then the diameter bisects the
chord and its arc.

Proof Ex. 22, p. 550

Theorem 10.7 Perpendicular Chord Bisector Theorem

F

D

If £G is a diameter and EG L DF,
then HD = AF and GD = GF.

Theorem 10.3 Perpendicular Chord Bisector Converse

If one chord of a circle is a perpendicular
bisector of another chord, then the first chord
is a diameter.

T

Do

HQSisa perpendlcular bisector of TR,

Proof Ex. 23, p. 550

In the diagram, ©P = ©Q, FG = JK,
and mJK = 80°. Find mFG.

————————

[F =50 |

PT bisects ZRPS. Find RT.

Find NP.
N3 =15 (3-15-1% A)

—_——

Find QR to the nearest tenth.

] Qe = 2(10@E) = 2003

then QS is a diameter of the circle.

|
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R (px= 204X

T 10X =20
20 4x Y 2'
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a. Find HK. b. Find mHK. 4 {70 + xF°
X
— i 1lx
H]Lzz(qulq \lx =30+ X H
10X =30 L
X=3

I ITARELT
Lmﬁz = Z(??) =4 /540]

Three bushes are arranged in a garden, as shown. Where should you
place a sprinkler so that it is the same distance from each bush?

{jﬂ Find 4 L bisector

Vetween each bwh.

Wihere ey meed is
Hu cendor of +ha cirele.
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In Exercises 1 and 2, use the diagram of ©D.
T o —= B =
1.1 mAB = 110°, find mBC. A e ”93
2. IfmAC = 150°, find m4B. '
& mAB= 360~150 _ 2_;|'_Q_ :,U-OgoJ
2 m——=

In Exercises 3 and 4, find the indicated length
or arc measure. &

3.cE = 2(5) @ s""“
4. mCE D_X)D
Ix = 50 X ‘
10X =80
X=%

Theorem 10.9 Equidistant Chords Theorem

In the same circle, or in congruent circles, two chords C
are congruent if and only if they are equidistant from A
the center. D
B
Proof Ex. 25, p. 550 AB = CD if and only if EF = EG.
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In the diagram, QR = ST =16, CU = 2x, and CV = 5x - 9. Find the
radius of ©C.

Ix =5% 1 @fii) "
~3% =79 (b-%-10 7?:'?(043 Q 4{@‘
V=3 \= 2
A

00=203) =0
QU=

In the diagram, JK = LM = 24, NP = 3x, and NQ = 7x — 12. Find the

radius of ON.

%= -2
—dy=-11
X=3

NP = 3(3)=9
Jp=z
TN = 15) (345 Triplel)
Homework:
pg. 549 #3-10, 13-17
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